> A
A & 0l & AF 2 E A A
20198 &= =0l& LB H MK
M HEXH B
Y HSNUE(RHLBH/NS)
S MSAE Y AEE0IY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= XI& 2t 12,254,737 7,651,913 4,602,824
s 1,469,000
J| 188,538
< 53,996
Al 10,543,203
HEeEdE (2322 /HK) 12,150,017 7,547,193 4,602,824
s 1,469,000
J| 188,538
< 53,996
Al 10,438,483
Hsds & AZ=0MAHE 2,713,463 3,716,480 A 1,003,017
= 28,000
Al 2,685,463
Hsds g% X 45,480 47,480 A 2,000
201 2et2d]| 19,480 19,480 0
01 At 2teltl 19,000 19,000 0
OB+t 16,000, 000& 16,000
o=l 3,000,000& 3,000
02 2324l 480 480 0
o0z22= & HA 480,000& 480
202 O4dl 23,000 25,000 A 2,000
01 = LH 4 Hi 23,000 25,000 A 2,000
O=A=Z NI 23,000,000& 23,000
203 YR =&l 3,000 3,000 0
03 A Z=XH S =AY 3,000 3,000 0
OM=&gA RX 2= 2,000,000& 2,000
OMSAE 2H RFH 1,000,000& 1,000
ANZHE2sEIIE X&E 625,000 1,070,000 A 445,000
< 18,000
Al 607,000
301 et d = 625,000 550,000 75,000
< 18,000
Al 607,000
Ni=td - 2sRSE4= 625,000 550,000 75,000
OANEANE s7EH 2F 625,000,000 625,000
< 18,000
Al 607,000
HMESASAIH FX 138,000 154,000 A 16,000
201 et 8,000 8,000 0
03 &AL2 I 8,000 8,000 0
OF= U TC 08 S BAN 29
8,000,000& 8,000
301 et 4= 20,000 29,600 A 9,600




M MEXE 0

H: HSUE(2}L2AZ/AS)
cel: MERAE Y ARX0IE

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 20,000 29,600 A 9,600
OE=(Z)H? S MSHA HIIA A28
20,000,000& 20,000
307 gl2tol & 110,000 110,000 0
02 IZHE M AHE L 30,000 30,000 0
OX= ()=t =X ¥ a3l 24l X
30,000,000& 30,000
04 RIZFHALAIH 2 = 80,000 80,000 0
Od=HM=sU =dE FH X
10,000, 000& 10,000
OMsSEuBLMUE HaZH X
10,000, 000& 10,000
OXIA(Z)HAUE 2X MHal 20,000,000& 20,000
o2& Ms#HAH(HS)=EH X 40,000,000 40,000
CoH=Us XA 477,000 477,000 0
307 21201 A 477,000 477,000 0
02 It S AIHE L 477,000 477,000 0
OZQME S S8l XA (LetR)
60,000,000 60,000
OZQME 48528 &l XN (2ER)
70,000,000 70,000
OFQUMA ESEEH L A2 2l
10,000, 000& 10,000
OL8NA &=x33H XA 160,000, 000& 160,000
OEHMAE AT Alaz X 7,000,000& 7,000
OLQNAE =8+ S4H XA
150,000, 000& 150,000
OEQAMAE B8 g& XA 20,000,000& 20,000
StuHsE =4 447,000 895,000 A 448,000
308 A EHHSOIA 447,000 845,000 398,000
08 WSIIA0HetE = 447,000 845,000 A 398,000
OguldEsdEs L =2-5-10 232 N2
290,000,000 290,000
03dd =-3sw M=sUa & 3H N
10,000, 000& 10,000
OMBELSHI = -Sstd SENSUHIXH
12,000, 000& 12,000
OusXNAHUHE HM=CHal XI&  5,000,000& 5,000
Oxssw =dus XA 50,000,000& 50,000
ORZzSsD ZTASE AxY X
80,000,000& 80,000
HE - HH Msgds 84 295,983 350,000 A54,017
307 21201 A 295,983 220,000 75,983




2A4: MR
H: JRIE(S}LZ/HR)
e H=sdE L AZX0AE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
03 QIZI X EHESIEHIEX 295,983 220,000 75,983
OAEAM=Z Q124H K& 265,983,000 265,983
OMEAM=ESE 28H X3 30,000,000 30,000
H243 S3HSALEEA2AI| AITUHE MEHS & 50,000 50,000 0
2 =203
307 gizto| A 50,000 50,000 0
04 CIZ2tSHALALSE B = 50,000 50,000 0
OHN243 SSMSAZRH2I| ANZUHE M
ME 8=2 53203 X 50,000,000 50,000
dXNEHA X 40,000 40,000 0
307 2iz2to| A 40,000 40,000 0
02 QIZIA AAIE E X 40,000 40,000 0
ONX2dHE XAH & 40,000,000 40,000
FH =2 HH 0 7 HAYA 100,000 100,000 0
307 QI2t0| & 100,000 100,000 0
04 CIZ2tSH ALALSE B = 100,000 100,000 0
OFH =2 24 a1 s7 YN
X & 100,000,000 100,000
d=9=z0 s=32Ug X& 20,000 20,000 0
307 gizto| A 20,000 20,000 0
04 QIZ2tSHALALS B = 20,000 20,000 0
OM73 AMEAIEH d=22=202 =720 XS
20,000,000 20,000
HUASSO H2AMNE X 8,000 8,000 0
307 2iz2tol & 8,000 8,000 0
04 SIZ2ISHAAISH E & 8,000 8,000 0
OHMb53 AFEAIEH H2HLIASSO HAWNS
X & 8,000,000& 8,000
MEOIZIEUSE K& 50,000 40,000 10,000
307 2Iz2t0| & 50,000 40,000 10,000
04 SIZ2ISHAAISH E X 50,000 40,000 10,000
osgastel Med dMEDtEUSE XS
50,000,000 50,000
AEZSEC MIAAXNI S| 10,000 8,000 2,000
307 212t0| & 10,000 8,000 2,000
04 CIZ2tSHALALS B X 10,000 8,000 2,000
OM11a AIEAIEH AESEH M2 AANH
H e X 10,000, 000& 10,000
d=2TH=2et0lY tHal X 7,000 7,000 0
307 QI2t0| & 7,000 7,000 0




2A4: MR
H: JRIE(S}LZ/HR)
o9l MSNE L AERX0INE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
04 SIZ2ISHAAIH E & 7,000 7,000 0
OHM163 A AIEHI 8= 2201 E
X & 7,000,000& 7,000
SAtUE K& 10,000 10,000 0
307 2Iz2to| A 10,000 10,000 0
04 SIZ2HSHAAISH E & 10,000 10,000 0
OHM11a A AIEH S&tUHE L H41s F4E
A HIEM X& 10,000,000& 10,000
28 HAATZIX(N XN 50,000 20,000 30,000
307 212t0| ™ 50,000 20,000 30,000
04 SIZ2HSHAAISHE E X 50,000 20,000 30,000
©2019 AFEAIEH =2 HAATZT X3 K&
50,000,000 50,000
A S0t EUE XS 120,000 100,000 20,000
=} 10,000
Al 110,000
307 QI2t0| ™ 120,000 100,000 20,000
= 10,000
Al 110,000
04 CIZ2tSHALALS B X 120,000 100,000 20,000
OHM143 A -S0I2tEWUSE K&
120,000,000 120,000
= 10,000
Al 110,000
HICtHAICHS K& 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 CIZ2tSHALALS B X 5,000 5,000 0
O X332 AFEAIEUH HBICIS AICHS X &
5,000,000& 5,000
=2 20 E0 2L=EAUF 5,000 0 5,000
307 2iztol & 5,000 0 5,000
04 DIZ2LSHALALS B = 5,000 0 5,000
OHM43 AEAIEE A= R0E0 - ZLASAUH
3| 5,000,000& 5,000
SEFU AU EH) d2EHESSW s72UE X 60,000 60,000 0
_OCJ
307 QI2t0| ™ 60,000 60,000 0
04 CIZ2tSHALALS B X 60,000 60,000 0
OS= U 2019 AU HI| RLHEHESED
s2Us X 60,000,000 60,000
NES N ATX=0tE HE H=Us XA 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0




2A4: MR
H: JRIE(S}LZ/HR)
e H=sdE L AZX0AE (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
04 SIZ2ISHAAIH E & 20,000 20,000 0
OH163 AMAZEI(ZCIHE =& A Ag)
NsSen ATXS0IZ e HEeds A
20,000,000 20,000
M= dH 2% s N 50,000 0 50,000
307 QI2t0| ™ 50,000 0 50,000
04 CIZ2tSHAPALS B = 50,000 0 50,000
OM3Z AMEAIHEI =2 4 2 U3 XA
50,000,000 50,000
=2 85 e N 50,000 0 50,000
307 giztol A 50,000 0 50,000
04 CIZ2tSHALALS B X 50,000 0 50,000
OHM13 AFEAIEH MEHE 82 & U3
X & 50,000,000 50,000
H 103 SN ALIEA2H MEHEs d=2224U 3 30,000 0 30,000
307 QI2t0| & 30,000 0 30,000
04 CIZ2tSHALALS B X 30,000 0 30,000
OHM103 SSM=AZ2H2U MEHE =
AU XA 30,000,000 30,000
MEHE 4 1,454,512 1,317,612 136,900
J| 188,538
& 25,996
Al 1,239,978
AMBIHESa JHF 350,000 210,000 140,000
307 ciztol A 350,000 210,000 140,000
04 CIZ2tSHALALS B = 350,000 210,000 140,000
OABH=0HE X& 280,000,000 280,000
OAMoIHM=Us 89 & 70,000,000 70,000
NEce MadsUs K& 127,000 127,000 0
201 LBt ]| 38,000 38,000 0
03 A2 G H| 38,000 38,000 0
og-H-.-5 2ZJ Ua XA 28,000,000 28,000
OX=c M= XN 10,000,000& 10,000
301 LBt A= 4,000 4,000 0
09 HAIAHI EAZ 4,000 4,000 0
OXEc MENsUH & NE
4,000,000& 4,000
307 S12t0| & 85,000 85,000 0
04 SIZ2HSHAAISHE E & 85,000 85,000 0
oO&s=s4Y MEdsla & 85,000,000 85,000

_5_




M MEXE 0
|

M MU (BsL22/H=)
ool MBS S4
o
SN SAGEA) - MRALY - BES 0l &t o e
AMIAZ2 T2l XI& 20,000 20,000
307 21201 & 20,000 20,000
04 RIZHHALAIH 2 & 20,000 20,000
©2019¢ Al2IAZ 2010 XI& 20,000,000& 20,000
MEtsa X3 183,000 183,000
307 21201 & 183,000 183,000
02 HAHFHANGEEX 183,000 183,000
OZY 0z24 MEHsta s83H X3
20,000,000& 20,000
OZ=sg M=l 3dl XN
12,000,000& 12,000
O=H? dEM=sHa E83H N
10,000, 000& 10,000
OM302 & daXsla s&83H X3
90,000,000& 90,000
OMENS 2% JUITYH X
5,000,000& 5,000
OMEHEXNEX sl XN (ML)
36,000,000 36,000
OMENEIIE SH A2X=X ME 3H XN
10,000, 000& 10,000
daH=sa2s 54 N 38,000 38,000
< 4,000
Al 34,000
307 gl2tol & 38,000 38,000
< 4,000
Al 34,000
02 HHFHANEEX 38,000 38,000
OANZMHEHSUE X 38,000,000& 38,000
=) 4,000
Al 34,000
MExs Z20d X2 15,550 15,550
=) 4,664
Al 10,886
307 21201 A 15,550 15,550
=) 4,664
Al 10,886
02 (I HAMAEE 15,550 15,550
odaix=s 218 299 15,550,000& 156,550
< 4,664
Al 10,886
MEH s WA 16,128 16,128
< 4,838
Al 11,290
307 glztol & 16,128 16,128




2AMd: MK
3 AMSEE(
s

2T /HE)
Sl MBS 84 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 4,838
Al 11,290
03 QIZIHEHESIHIEX 16,128 16,128 0
OMENRNA 29 16,128,000& 16,128
= 4,838
Al 11,290
oo HEs0te s X 14,400 12,000 2,400
= 5,487
Al 8,913
307 QI2t0| & 14,400 12,000 2,400
= 5,487
Al 8,913
03 AU EESIHES 14,400 12,000 2,400
OHMC M=sotel s & 14,400,000 14,400
& 5,487
Al 8,913
oo E 2435 XS 34,500 33,000 1,500
307 2Iz2t0| & 34,500 33,000 1,500
02 QIZHE AAIE E X 34,500 33,000 1,500
03Y =02 M=elis =& ZFH X
4,000,000& 4,000
Ok ZoHe MEH=Ua =& 3H XA
10,000,000 10,000
0d3Y =0t 28 s & AUl A&
3,000,000& 3,000
O LTS BH b X
1,000,000 1,000
OA2LZEOHC AIOIZ2U3 & HHl X
1,000,000 1,000
OwH0tdl &HeEZz2H 24 XN
10,000,000& 10,000
OAlIZ Z0Ho MEHEUE =& 2H X&
4,000,000 4,000
O&=2 =0t2 HOIEZE Ha && &dl X
1,500,000 1,500
5 MEH =X S A Hi X 134,040 128,040 6,000
J| 67,020
Al 67,020
307 212t0| ™ 134,040 128,040 6,000
J| 67,020
Al 67,020
03 IZIHY P ESIHIEX 134,040 128,040 6,000
Ot MM =X X i Xl 134,040,000 134,040
J| 67,020
Al 67,020
HEA MES=sA =X O X 134,040 128,040 6,000




M MEXE 0
|

H: JRIE(S}LZ/HR)
chelr MEHS 34 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 67,020
Al 67,020
307 2iz2to| A 134,040 128,040 6,000
J| 67,020
Al 67,020
03 QIZIHHEHESIHIEX 134,040 128,040 6,000
ooza MEM=XEZA HiX 134,040,000 134,040
J| 67,020
Al 67,020
ANAEAZI=EYE 29 A 310,000 280,000 30,000
307 QI2t0| ™ 310,000 280,000 30,000
02 QI2tAAMAIE E =X 310,000 280,000 30,000
OAZ=ZY 29 K& 290,000,000& 290,000
Odx==4Et &d FH XA 20,000,000 20,000
AZ2AL 0l2d N 77,854 77,854 0
J| 54,498
& 7,007
Al 16,349
301 et A= 77,854 77,854 0
J| 54,498
& 7,007
Al 16,349
01 Al B & A 46 2 77,854 77,854 0
OAEZ=2Z 0|23 XS 77,854,000 77,854
J| 54,498
= 7,007
Al 16,349
HESAE &5 202 7,082,042 1,752,489 5,329,553
g 1,469,000
Al 5,613,042
SEMHEZ2E SP2E XHER L A AR 80,000 0 80,000
401 Al HI L 2 0HHI 80,000 0 80,000
01 Al& H| 80,000 0 80,000
OZSEMH=Z2) EFRZE XY B9 & #A &
80,000,000 80,000
LUMEHFAE X4 200,000 0 200,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O2Y MEHsANdE =4 200,000,000 200,000
ChEdisd Y dEdss 8X ALY 3,400,000 0 3,400,000
g 900,000
Al 2,500,000
401 Al HI L 2 0HHI 3,400,000 0 3,400,000
Fag 900,000
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AN HEX 0
HH: HSUE(ESHL2Z/MK)
S MSAE =5 22 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZZNE Bols 59 2 HE 2y
,000,000& 2,000
307 glz2tol & 200,000 200,000 0
05 RIZERI & 3 200,000 200,000 0
OZEg2SZ AAXL A 22|
200,000, 000& 200,000
401 Al HI & 2 08I 540,000 642,000 A 102,000
01 A& HI 540,000 642,000 A 102,000
O=ZH LA AXAC X & =4 HUS
Al 150,000, 000& 150,000
OB3HMSAE AU LEDZZE WX S A
160,000, 000& 160,000
OdZHESAME A72 FHISA 50,000,000 50,000
OMEMsSANE A7 2 HHISA 50,000,000 50,000
ootesII7 0l8 & AXSA
50,000,000& 50,000
OME3E - OIAXMSAIE RANE2> & FHul
30,000,000& 30,000
OMHBEAHOEEE S % CCTVEXISA
50,000,000& 50,000
MEXSAE AXZXC WHAS 1,500,000 0 1,500,000
s 450,000
Al 1,050,000
401 AIEBIZ 201 8I 1,500,000 0 1,500,000
s 450,000
Al 1,050,000
01 A& Bl 1,500,000 0 1,500,000
OMEXNSAE AXECI WHA
1,500,000, 000& 1,500,000
s 450,000
Al 1,050,000
SSHSAE ZHES LEDEES DWHAMZ 396,000 0 396,000
s 119,000
Al 277,000
401 Al BIZ 201 8] 396,000 0 396,000
s 119,000
Al 277,000
01 A& HI 396,000 0 396,000
OO0t AIE LEDZHS Wi 3 A
396,000, 000& 396,000
s 119,000
Al 277,000
A= E 2el 900,000 760,612 139,388
Al E Ald SZHA 900,000 105,000 795,000
401 Al B2 28I 900,000 70,000 830,000
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